Installation
Instructions
for
PBA30 Series
POWERSTAT® Variable Transformer
Enclosures

Bench or Wall Mounting

Installation is easy as 1-2-3 ...

= e
s

Ready. Set. Go.

@Superior Electric



INSPECTION
Examine the Enclosure carefully for shipping damage or for missing parts. The “Damage and Shortage” instruc-
tions packed with the unit outline the procedures to follow if any parts are damaged or missing. In addition to the
POWERSTAT Enclosure, a hardware pack which contains all hardware needed to mount the POWERSTAT Variable
Transformer inside the Enclosure is supplied.

Enclosure Hardware Pack Number
PBA30-NO1-1 218654-001
PBA30-N0O1-2 218654-002
PBA30-N01-3 218654-003
PBA30-N01-4 218654-004

Hardware Pack 218654-001 contains the following items:

Quantity Description Part Number
4 Screw, 1/4”-28 x 3/4” Long 203605-208-AB
4 Screw, 3/8”-24 x 1” Long 203505-310-AB
2 Nut, 1/47-20 203600-110-AB
4 Nut, 1/47-28 203600-111-AB
4 Nut, 3/87-24 203600-115-AB
4 Washer, Flat, 1/4” 203601-112-AB
4 Washer, Flat, 3/8” 203601-114-AB
4 Lock Washer, 1/4” 203604-112-AC
4 Lock Washer, 3/8” 203604-114-AC
1 Lock Washer, Internal Tooth, #10 203603-110-AC
1 Lock Washer, #10 203604-110-AC
1 Washer, Flat, #10 203601-110-AB
1 Nut, #10-32 203600-108-AB

Hardware Pack 218654-002 contains the following items:

Quantity Description Part Number
4 Screw, Hex Head, 1/4”-28 x 1/2” Long 203505-206-AB
4 Screw, 3/8”-24 X 3/4” Long 203505-308-AB
2 Screw, 3/8”-24 x 1” Long 203505-310-AB
6 Nut, 1/47-20 203600-110-AB
4 Washer, Flat, 1/4” 203601-112-AB
4 Washer, Flat, 3/8” 203601-114-AB
4 Lock Washer, 1/4” 203604-112-AC
4 Lock Washer, 3/8” 203604-114-AC
1 Lock Washer, Internal Tooth, #10 203603-110-AC
1 Lock Washer, #10 203604-110-AC
1 Washer, Flat, #10 203601-110-AB
1 Nut, #10-32 203600-108-AB

Hardware Pack 218654-003 contains the following items:

Quantity Description Part Number
8 Screw, Hex Head, 1/4”-28 x 1/2” Long 203505-206-AB
4 Screw, 3/8"-24 x 3/4” Long 203505-308-AB
2 Washer, Flat, 1/4” 203601-112-AB
6 Washer, Flat, 3/8” 203601-114-AB
6 Lock Washer, 1/4” 203604-112-AC
6 Lock Washer, 3/8” 203604-114-AC
1 Lock Washer, Internal Tooth, #10 203603-110-AC
1 Lock Washer, #10 203604-110-AC
1 Washer, Flat, #10 203601-110-AB
1 Nut, #10-32 203600-108-AB
2 Nut, 3/87-24 203600-115-AB
2 Standoff, 1/4”-28 x 1-5/16” Long 051364-014-AB
2 Standoff, 1/4”-28 x 7/8” Long 051364-012-AB



DESCRIPTION

PBA3O0 Series Enclosures are for motor-driven, single-, two- and three-gang POWERSTAT Variable Transformers of
the M/ME116CU, M/ME116CU-40, M/ME117CU, M/ME216CU, M/ME217CU, DM116CU, DM117CU, DM216CU and
DM217CU Series, and for both manual and motor driven, single-, two- and three-gang models of the 126U, 226U,
136BU and 236BU Series. Four Enclosures are available for use as indicated in the following charts.

PBA3O0 Series Enclosures are designed for use with open construction (suffix U) POWERSTAT Variable Transformers.
They are constructed of heavy gauge sheet metal and are supplied completely assembled. The Enclosures have a
full range of knockouts for wire entry and exit and are supplied with all necessary mounting hardware for mounting
the POWERSTAT assembly in the Enclosure.

A PBA3O0 Enclosure is a NEMA Type 1 Enclosure as defined in NEMA Standard 250. It is designed to protect person-
nel from accidental contact with the enclosed POWERSTAT Variable Transformer.

Enclosures of the PBA30 Series are intended for use indoors in areas where unusual service conditions do not exist.
They are designed for wall or bench mounting and provide the ventilation needed to allow operating the enclosed
POWERSTAT Variable Transformer at its maximum rating.

CAUTION:

These Enclosures have been designed and tested to provide the ventilation needed to permit operation of
the POWERSTAT Variable Transformer at its full rating in ambient temperature to 40°C. When ambient tem-
perature exceeds 40°C, the current rating of the POWERSTAT unit must be reduced as shown in the curve
found in the instruction manual for your POWERSTAT model.

MANUALLY OPERATED MODELS

Series Ganged Assemblies | POWERSTAT Variable Transformer Type Enclosure Type
126 & 1 126U, 226U PBA30-NO1-1
26 2 126U-2, 226U-2 PBA30-N01-2
3 126U-3, 226U-3 PBA30-N01-3
136B, 1 136BU, 236BU, LW136BU PBA30-NO1-1
236B & 2 136BU-2, 236BU-2, LW136BU-2 PBA30-N01-2
LW136B 3 136BU-3, 236BU-3, LW136BU-3 PBA30-N01-3




MOTOR-DRIVEN MODELS

Series Ganged Assemblies POWERSTAT Variable Transformer Type Enclosure Type
1 M/ME116CU, M/ME116CU-40, M/ME117CU PBA30-NO1-2
DM116CU, DM117CU
M/ME11 -2, M/ME11 -40-2, M/ME117CU-2
116C & 2 / 6CU-2, M/ 6CU-40-2, M/ v PBA30-N01-3
117C DM116CU-2, DM117CU-2
3 M/ME116CU-3, M/ME116CU-40-3, M/ME117CU-3 PBA30-NO1-4
DM116CU-3, DM117CU-3
M/ME21 M
1 / 6CU, M/ME217CU PBA30-N01-2
DM216CU, DM217CU
216C & M/ME216CU-2, M/ME217CU-2
2 PBA30-NO1-
217C DM216CU-2, DM217CU-2 30-N01-3
E21 - ME21 -
3 M/ME216CU-3, M/ 7CU-3 PBA30-NO1-4
DM216CU-3, DM217CU-3
1 MC/ME126U, MC/ME226U PBA30-NO1-2
DM126U, DM226U
126 & MC/ME126U-2, MC/ME226U-2
2 PBA30-NO1-
226 DM126U-2, DM226U-2 30-N01-3
MC/ME126U-3, MC/ME226U-3
3 PBA30-NO1-4
DM126U-3, DM226U-3
1 MD/ME136BU, MDLW/MELW136BU, MD/ME236BU PBA30-NO1-2
DM136BU, DM236BU
1368 MD/ME136BU-2, MDLW/MELW136BU-2, MD/ME236BU-2
2368 & 2 BM1363U 2, DM236BU Iz PBAS0-NO1-3
LW136B e )
3 MD/ME136BU-3, MDLW/MELW136BU-3, MD/ME236BU-3 PBA30-NO1-4

DM136BU-3, DM236BU-3




MOUNTING

The Enclosures have mounting pads on the rear for mounting against a flat surface. Follow these steps to mount
the Enclosure.

Bench Or Wall Mounting, Manually Operated Single-
Two- and Three-Gang Models

1.

Remove the four screws that hold the front cover in
place and remove the cover.

Hold the Enclosure in position and mark the locations
of the mounting holes located in the drawn pads.

The holes in the Enclosure mounting pads provide
clearance for 1/4” diameter bolts. Depending on the
mounting method to be used, either drill through holes
for 1/4” diameter mounting bolts or drill and tap for 1/4”
diameter mounting screws.

The end covers allow the POWERSTAT unit to be
mounted on either end of the Enclosure with the same
option for shaft exit. Punch out the appropriate set of
mounting holes and the shaft clearance hole in the
proper end cover.

Remove the knob and the dial from the POWERSTAT
assembly. Fasten the dial to the appropriate end cover
using the same screws. Be sure that the dial markings
will be oriented correctly with respect to the POWER-
STAT brush setting after the variable transformer is
mounted in the Enclosure.

Loosen the setscrews which hold the variable trans-
former shaft in place and adjust the shaft so it extends
approximately 7/8” beyond the outer surface of the
cover for 126U and 226U Series units, and 1-1/8”
beyond the outer surface of the cover for 136BU and
236BU Series Models. Tighten the setscrews. Be sure
that all of the brushes are in alignment on multi-deck
units.

7. Boltthe POWERSTAT Variable Transformer to the end

cover using the hardware supplied. On three-gang
models, be sure that the holes in the POWERSTAT
side bracket farthest from the mounting surface are
aligned with the holes in the Enclosure. Bolt the unit
to this bracket as well. For three-gang 126U and 226U
models, use the 7/8” long hex standoffs supplied to
provide support for the rear of the variable transformer.
Bolt each standoff to both the POWERSTAT bracket
and the Enclosure rear panel using two 1/2” long
1/47-28 bolts per standoff.

. Place the knob on the shaft and position its pointer

correctly with respect to the final indications. Tighten
the knob setscrews.

. Fasten the Enclosure to the bench or wall using the

holes previously prepared in steps 2 and 3. Hardware
for fastening the Enclosure to the bench or wall is not
provided.

10. Complete all wiring to the POWERSTAT variable

transformer before replacing the front cover. A ground-
ing stud is provided in the Enclosure and hardware for
this stud is supplied. Several knockouts are provided
in the Enclosure for wire entry and exit.



MOUNTING (continued)

Bench or Wall Mounting, Motorized Single-, Two- and 5. Boltthe POWERSTAT Variable Transformer to the end
Three-Gang Models

1.

Remove the four screws that hold the front cover in
place and remove the cover.

Hold the base of the Enclosure in position and mark
the locations of the mounting holes provided in the
drawn pads of the base.

The holes in the Enclosure mounting pads provide
clearance for 1/4” diameter bolts. Depending on the
mounting method to be used, either drill through
holes in the mounting surface to provide clearance for
1/4” diameter bolts or drill and tap for 1/4” mounting
screws.

. Punch out the appropriate mounting holes in the end

cover of the Enclosure.

cover with the hardware supplied. On two- and three-
gang units, make sure the holes in the POWERSTAT
side mounted bracket farthest from the mounting
surface line up with the holes in the Enclosure. Bolt
the unit to this bracket as well. On M/ME116CU,
M/ME116CU-40, M/ME117CU, M/ME216CU and
M/ME217CU models, use the 7/8” (22mm) long hex
standoffs. Bolt each standoff to both the POWERSTAT
bracket and the Enclosure rear panel using two 1/2”
long 1/47-28 bolts per standoff.

. Mount the Enclosure to the wall or bench using the set

of holes selected in step 2. Hardware for mounting the
Enclosure is not supplied.

. Complete all wiring to the POWERSTAT Variable Trans-

former before replacing the front cover. A grounding
stud is provided inside the Enclosure and hardware for
this stud is supplied. Several knockouts are provided
in the Enclosure for wire entry and exit.



Dimensions

"g" 1.2 REF.—> "c*
Ve o = L T
g o — O E j@ﬂ,;:::::g;:"i‘f‘r :i*.I--'-'--'-'--.- li ¥
| /\\ { = 1l :"]l: e ||
"A" / /.( \\ ! L= = B4 -
R\ i qa °
1N N ! o I P [
J -~ - T S o T LLL
‘O\“\”Q é"’ﬁ{;;::}}ﬁ] - tvtsinten JEE )] {J}}
xi_/ S G = — \_%_/ i \4&
| |
> PR, ./ ; P
o
Connectric Knockouts "F"

Type Quantity | Diameter: Inches (Millimeters) on
PBA30-NO1-1 8 ;L“ H»* o HF”-. ‘
PBA30-N01-2| 8 eif [AelE Lo L[]
PBA30-NO1-3| 8 88(223) s el i | = S
PBA30-NO1-4| 8 R IRE '

S
i . K
| |
F L - o CLEARANCE FOR
[ > 1/4" SCREW
Tvpe Dimensions
yp ||A|| n B" ||c|| ||D|| “E"
10.12 9.25 6.25 7.62 4.25
PBASO-NOT-11 557 05) | (234.95) | (158.75) | (193.55) | (107.95)
10.12 9.25 14.00 7.62 7.00
PBASO-NOT-2 1 557 05) | (234.95) | (355.60) | (193.55) | (177.80)
10.12 9.25 19.00 7.62 12.00
PBASO-NOT-3 1 557 05) | (234.95) | (482.60) | (193.55) | (304.80)
10.12 9.25 25.00 7.62 18.00
PBASO-NOT-4 1 557 05) | (234.95) | (635.00) | (193.55) | (457.20)




Available Coast-to-Coast and Internationally

Voltage Control Components

VOLT-PAC® Variable Transformers
POWERSTAT® Variable Transformers
LUXTROL® Lighting Controls
5-WAY® Binding Posts
SUPERCON® Flectrical Connectors

Power Quality Products
STABILINE® Automatic Voltage
Regulators
STABILINE® Transient Voltage
Surge Suppressors
STABILINE® Uninterruptible
Power Supplies

STABILINE® Power Conditioners

Voltage Control Components are available
worldwide through an extensive Authorized
Stocking Distributor network. These Distributors
offer literature, technical assistance and a wide
range of models off-the-shelf for fastest possible
delivery and service.

STABILINE Power Quality Solutions are
available worldwide through an extensive
Authorized Distributor and Reseller network
which offer literature, technical assistance
and a select range of models off-the-shelf
for fastest possible delivery and service.

In addition, Superior Electric Manufacturer’s Representatives are available to provide prompt
attention to customer needs. Call or fax for ordering and application information or for the address
of the closest Manufacturer’s Representative, Authorized Distributor or Reseller.

Superior
Electric

S, Telephone and Fax Numbers Toll-Free (in USA and Canada only)
0 Telephone 860-507-2025 Telephone 1-800-787-3532
2 Fox 860-507-2050 Fax I-800-621-1369
7 ?00% Customer Service  860-507-2025, Ext. 70782  Customer Service  1-800-787-3532, Ext. 70782

The right to make
engineering refinements
on all products is reserved.
Dimensions and other
details are subject to
change.

213709-117 REV D

Product Application - 860-507-2025, Ext. 72058  Product Application

1-800-787-3532, Ext. 72058

28 Spring Lane * Suvite 3¢ Farmington, CT 06032 USA

www.superiorelectric.com

©2008 Superior Electric Printed in USA




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


